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Proportions in Triangles
7-5

Reteaching
The Side-Splitter Theorem states the proportional relationship in a triangle in which a line is parallel to one side while intersecting the other two sides.
[image: image27.png]


Theorem 7-4: Side-Splitter Theorem
In ∆ABC, 
[image: image2.wmf] 
[image: image3.wmf]intersects 
[image: image4.wmf] and
[image: image5.wmf]. The segments of 
[image: image6.wmf] and 
[image: image7.wmf] are proportional: 
[image: image8.wmf]
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The corollary to the Side-Splitter Theorem extends the proportion to three parallel lines intercepted by two transversals.
If [image: image9.emf] you can find x using the proportion:
 
[image: image10.wmf]
2x = 21
Cross Products Property
x = 10.5
Solve for x.
Theorem 7-5: Triangle-Angle-Bisector Theorem
When a ray bisects the angle of a triangle, it divides the opposite side into two segments that are proportional to the other two sides of the triangle.
[image: image29.png]


In ∆DEF, 
[image: image11.wmf]bisects (E. The lengths of 
[image: image12.wmf]and 
[image: image13.wmf]are proportional to their adjacent sides 
[image: image14.wmf] and 
[image: image15.wmf].
To find the value of x, use the proportion 
[image: image16.wmf].
 6x = 24
   x = 4
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Exercises
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1.
2.
3.
4.
Use the figure at the right to complete each proportion.
Algebra Solve for x.
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5.



     6.



       7.
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Proportions in Triangles
Reteaching (continued)
Algebra Solve for x.
 8.



  9.



10.

11.



  12.



13.
In ∆ABC, AB = 6, BC = 8, and AC = 9.
14. The bisector of (A meets 
[image: image19.wmf]at point N. Find BN and CN.
15. [image: image20.emf] Point X lies on 
[image: image21.wmf]such that BX = 2, and Y is on 
[image: image22.wmf]. Find BY.


16. Error Analysis A classmate says you can use the Corollary to the Side-Splitter Theorem to find the value of x. Explain what is wrong with your classmate’s statement.
17. An angle bisector of a triangle divides the opposite side of the triangle into segments 6 and 4 in. long. The side of the triangle adjacent to the 6-in. segment is 9 in. long. How long is the third side of the triangle?
18. Draw a Diagram ∆GHI has angle bisector 
[image: image23.wmf], and M is a point on 
[image: image24.wmf]. GH = 4, HM = 2, GI = 9. Solve for MI. Use a drawing to help you find the answer.
19. The lengths of the sides of a triangle are 7 mm, 24 mm, and 25 mm. Find the lengths to the nearest tenth of the segments into which the bisector of each angle divides the opposite side.
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